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SECONDARY SCHOOL EXAMINATION – 2022 (ANNUAL) 

Model Set 

COMMERCE (OPT.)  

okf.kT; ¼,sfPNd½ 

le; % 3 ?kaVs 15 feuV        iw.kkZad % 100 

Time : 3 Hrs. 15 Minutes         Full Marks : 100 

dqy iz”uksa dh la[;k % 100 $ 30 $ 8 ¾ 138   

Total Number of Questions : 100 + 30 + 8 =138  

 

ijh{kkfFkZ;ksa ds fy, funsZ”k %& 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz”u iqfLrdk Øekad ¼10 vadksa dk½ 

vo”; fy[ksaA 

Candidates must enter his/her Quesiton Booklet serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfgus vksj gkf”k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Sub. Code - 115 
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15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz”u&i= nks [k.Mksa esa gS] [k.M&v vkSj [k.M&cA  

This question paper is divided into two sections : Section-A and 

Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz”u gSa] ftlesa ls fdUgha 50 iz”uksa dk mÙkj nsuk 

vfuok;Z gSA 50 ls vf/kd iz”uksa ds mÙkj nsus ij izFke 50 mÙkjksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd iz”u ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj dks 

miyC/k djk, x,  OMR&mÙkj i=d esa fn;s x;s lgh oÙ̀k dks dkys@uhys 

ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbZVuj@rjy inkFkZ@CysM@uk[kwu 

vkfn dk OMR mŸkj if=dk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke 

vekU; gksxkA 

In Section-A, there are 100 objective type questions, out of which 

any 50 questions are to be answered. First 50 answers will be 

evaluated in case more than 50 questions are answered. Each 

question carries 1 mark. Darken the circle with black/blue ball pen 

against the correct option on OMR Answer sheet provided to you. 

Do not use Whitener/Liquid /Blade/Nail, etc. on OMR Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 30 y?kqmÙkjh; iz”u gSa] ftuesa ls fdUgha 15 iz”uksa dk mŸkj nsuk 

vfuok;Z gSA izR;sd ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 8 
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nh?kZ mÙkjh; iz”u fn;s x;s gSa] ftuesa ls fdUgha 4 iz”uksa dk mÙkj nsuk gSA izR;sd 

iz”u ds fy, 5 vad fu/kkZfjr gSaA 

In Section-B, there are 30 short answer type questions, out of 

which any 15 questions are to be answered. Each question 

carries 2 marks. Apart from these, there are 8 Long answer 

type questions, out of which any 4 questions are to be 

answered. Each question carries 5 marks. 

8- fdlh izdkj ds bysDVªkWfud midj.kksa dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

[k.M&v@ Section A 

oLrqfu"B iz”u@Objective Type Question 

iz”u la[;k 1 ls 100 rd ds izR;sd iz”u ds lkFk pkj fodYi fn, x, gSa] ftlesa ls ,d 

lgh gSA fdUgha 50 iz”uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks OMR 'khV ij 

fpfUgr djsaA izR;sd iz”u ds fy, ,d vad fu/kkZfjr gSA    50 x 1 = 50 

Question Nos. 1 to 100 have four options for each question out of which only 

one is correct. Answer any 50 questions. You have to mark your selected 

option on the OMR-sheet. Each questions Carries 1 mark.  50 x 1 = 50 

1- ys[kkadu gS %& 

v- ,d foKku    c- ,d dyk 
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l- v- vkSj c- nksuksa   n- buesa ls dksbZ ugha 

Accounting is :- 

A. A Science    B. An Art 

C. Both A and B   D. None of these 

2- fuEu esa ys[kkadu dk mís”; gS %& 

v- iw¡th ,oa nkf;Roksa dk Kku  c- jksdM+ ,oa cSad 'ks"kksa dk Kku 

l- nsunkjksa ,oa ysunkjksa dk Kku n- buesa ls lHkh 

The object of accounting in the following is :– 

A. Knowledge of capital and liabilities 

B. Knowledge of cash and Bank 

C. Knowledge of debtors and creditors 

D. All of these 

3- iqLrikyu ds tUenkrk gSa %& 

v- dkVZj    c- ywdkl isfl;ksyh 

l- Likblj ,oa isxyj   n- buesa ls dksbZ ugha 

Father of Book keeping is :– 

A. Carter    B. Lucas Pacioli 
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C. Spicer & Pegler   D. None of these 

4- ys[kkadu lwpukvksa dk mi;ksxdÙkkZ dkSu ugha gS \ 

v- fuos”kd    c- Lokeh 

l- va”k/kkjhx.k    n- vo;Ld 

Who is not user of accounting informations ? 

A. Investors    B. Owners 

C. Shareholders   D. Minors 

5- ml O;fDr dks D;k dgrs gSa ftls O;kikj ls :Ik;k ysuk gS \ 

v- ysunkj    c- nsunkj 

l- xzkgd    n- buesa ls dksbZ ugha 

The person who is to receive cash from business is called ? 

A. Creditors    B. Debtors 

C. Customer    D. None of these 

6- LFkk;h lEifÙk esa 'kkfey gS %& 

v- iw¡th     c- udn 

l- miLdj    n- nsunkj 

Fixed assets include :- 

A. Capital    B. Cash 
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C. Furniture    D. Debtors 

7- Pkkyw lEifÙk esa 'kkfey gksrs gS %& 

v- Hkou     c- e”khujh 

l- nsunkj    n- miLdj 

Current Assets include :– 

A. Building    B. Machinery 

C. Debtor    D. Furniture 

8- fuEu esa dkSu&lh vewÙkZ lEifÙk gS \ 

v- [;kfr    c- VªsM ekdZ  

l- isVs.V~l    n- ;s lHkh  

Which of the following is an intangible assets? 

A. Goodwill    B. Trade mark 

C. Patents    D. All of these 

9- ysu&nsu dk vFkZ gS %& 

v- eky dk fofue;    

c- lsokvksa dk fofue; 

l- eky ,oa lsokvksa dk eqnzk esa fofue; 

n- buesa ls dksbZ ugha 
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The meaning of transaction is :– 

A. Exchange of goods   

B. Exchange of services 

C. Exchange of goods and services in term of money 

D. None of these 

10- fuEu esa dkSu&lk vk; ugha gS \ 

v- deh”ku izkIr fd;k   c- deh”ku fn;k 

l- C;kt izkIr fd;k   n- NwV izkIr fd;k 

Which of the following is not an income ? 

A. Commission received  B. Commission paid 

C. Interest received  D. Discount received 

11- fuEu esa dkSu&lk O;; ugha gS \ 

v- etnwjh    c- fdjk;k 

l- foØ;    n- osru 

Which of the following is not an expense ? 

A. Wages    B. Rent 

C. Sales    D. Salary 



8 
 

12- nksgjk ys[kk iz.kkyh ds tud ywdkl isfl;ksyh fuoklh Fks %& 

v- Ýkal ds    c- bVyh ds 

l- Hkkjr ds    n- fcVªsu ds 

Father of Double entry system Lucas Pacioli from :– 

A. France    B. Italy 

C. India    D. Britain 

13- iqLrikyu dh nksgjk ys[kk iz.kkyh dk vFkZ gS %& 

v- ys[kk iqLrdksa ds nks lsV~l esa izfof’V 

c- nks frfFk;ksa ij ys[kk djuk 

l- ,d gh ysu nsu dh nsk igywvksa dks izfof"V 

n- buesa ls dksbZ ugha 

Double entry system of Book-keeping means :- 

A. Entry in two sets of books of accounts 

B. Entry at two dates 

C. Entry for the two-fold aspects of a transaction 

D. None of these 

14-  ,d xzkgd dks D;k Hkstk tkrk gS tc og eky okil djrk gS \ 

v- uke i=    c- tek i= 
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l- chtd    n- buesa ls dksbZ ugha 

Which is sent to a customer when he return goods ? 

A. Debit note   B. Credit note 

C. Invoice    D. None of these 

15- ys[kkadu lehdj.k gksrk gS %& 

v- lEifÙk;k¡ ¾ iw¡th $ nkf;Ro 

c- lEifÙk;k¡ ¾ iw¡th & nkf;Ro 

l- lEifÙk;k¡ ¾ iw¡th $ ykHk 

n- lEifÙk;k¡ ¾ iw¡th 

Accounting equation is satisfied by :– 

A. Assets = Capital + Liabilities 

B. Assets = Capital - Liabilities 

C. Assets = Capital + Profit 

D. Assets = Capital  

16- e”khu dk udnh Ø; %& 

v- dqy lEifÙk;ksa dks ?kVkrk gSSA 

c- dqy lEifÙk;ksa esa dksbZ ifjorZu ugha djrk gSA 

l- dqy lEifÙk;ksa esa of̀) djrk gSA 
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n- buesa ls dksbZ ugha 

Purchase of machine for cash :– 

A. Decrease total assets  B. Keeps total Assets unchanged 

C. Increase total assets  D. None of these 

17- [kkrksa dks oxhZd`r fd;k tk ldrk gS %& 

v- O;fDrxr [kkrk   c- okLrfod [kkrk 

l- ukeek= [kkrk   n- ;s lHkh 

Accounts may be classified into :– 

A. Personal Account  B. Real Account 

C. Nominal Account  D. All of  these 

18- ^^vkus okyh oLrqvksa dks uke djks vkSj tkus okyh oLrqvksa dks tek djks** 

lEcfU/kr gS %& 

v- O;fDrxr [kkrk   c- okLrfod [kkrk 

l- ukeek= [kkrk   n- buesa ls dksbZ ugha 

The rule “Debit what comes in and credit what goes out” related to  

A. Personal Account  B. Real Account 

C. Nominal Account  D. None of these 

19- tek ¼Cr.½ dk vk”k; gS %& 
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v- lEifÙk esa o`f)   c- nkf;Ro esa of̀) 

l- nkf;Ro esa deh   n- buesa ls dksbZ ugha 

Credit means :– 

A. An increase in assets  B. An increase in Liability 

C. Decrease in Liability  D. None of these 

20- nksgjk ys[kk iz.kkkyh dh izFke voLFkk gS %& 

v- izkjfEHkd ys[kk   c- [krkSuh 

l- oxhZdj.k    n- buesa ls dksbZ ugha 

The first stage of double entry system is :– 

A. Original records   B. Posting 

C. Classification   D. None of these 

21- la;a= ,oa e”khujh [kkrk gS %& 

v- O;fDrxr [kkrk   c- okLrfod [kkrk 

l- ukeek= [kkrk   n- buesa ls dksbZ ugha 

Plant and Machinery account is a :– 

A. Personal account  B. Real account 

C. Nominal account  D. None of these 

22- tek i= rS;kj djrk gS %& 



12 
 

v- Øsrk     c- foØsrk 

l- xzkgd    n- buesa ls dksbZ ugha 

A credit note is prepared by :– 

A. Buyer    B. Seller 

C. Customer    D. None of these 

23- Mwcr _.k [kkrk gS %& 

v- O;fDrxr [kkrk   c- okLrfod [kkrk 

l- ukeek= [kkrk   n- buesa ls dksbZ ugha 

Bad debt account is a :– 

A. Personal account  B. Real account 

C. Nominal account  D. None of these 

24- ,d ls vf/kd uke vkSj tek djus dh izfof"V dks dgrs gSa %&  

v- fefJr ys[ks    c- izkjafHkd ys[ks 

l- vfure ys[ks    n- buesa ls dksbZ ugha 

An entry with more than one debit and credit is called :-  

A. Combined entry   B. Opening entry 

C. Closing entry   D. None of these 

25- ,d [kkrs ds fdrus i{k gksrs gSa \ 
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v- nks     c- pkj 

l- ,d     n- buesa ls dksbZ ugha 

How many sides does an account have ? 

A. Two     B. Four 

C. One     D. None of these 

26- ^^udn esa etnwjh nh** esa uke fd;k tk,xk %& 

v- jksdM+ [kkrk uke   c- etnwjh [kkrk uke 

l- ¼v½ vkSj ¼c½ nksuksa   n- buesa ls dksbZ uke 

“Paid wages in cash” should be debited to :– 

A. Cash A/C            B. Wages A/C 

C. Both (A) and (B)  D. None of these 

27- jksdM+ cgh gS %& 

v- ,d [kkrk         c- ,d lgk;d iqLrd 

l- ¼v½ vkSj ¼c½ nksuksa gh   n- buesa ls dksbZ ugha 

Cash Book is :– 

A. An Account           B. A Subsidiary Book 

C. Both (A) and (B)   D. None of these 

28- [kkrk cgh gS %& 

v- O;fDrxr [kkrk   c- okLrfod [kkrk 
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l- ukeek= [kkrk   n- iqLrdksa dk jktk 

Ledger is a :– 

A. Personal Account  B. Real Account 

C. Nominal Account  D. King of Books  

29- og iqLrd ftlesa lHkh [kkrs LFkk;h :Ik ls jgrs gSa( dks dgrs gSa %& 

v- jkstukepk    c- [kkrkcgh 

l- ykHk&gkfu [kkrk   n- O;kikfjd [kkrk 

The book, which contains all accounts permanently is called :– 

A. Journal     B. Ledger 

C. Profit & Loss A/c  D. Trading A/c 

30- ryiV ,d gS %& 

v- [kkrk     c- fooj.k 

l- lwpuk    n- lkjka”k 

Trail balance is a :– 

A. Account    B. Statement 

C. Information   D. Summary 

31- lEifÙk ds [kkrs dk 'ks"k lnSo gksrk gS %& 

A- uke     B- tek 

C- uke ;k tek   D- buesa ls dksbZ ugha 

Balance of assets account is always :– 
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A. Debit    B. Credit 

C. Debit or Credit   D. None of these 

32- ryiV dk mís”; 'kq)rk dh tk¡p djuk gS %& 

v- jkstukepk    c- [kkrkogh 

l- vfUre [kkrs    n- ys[kkiky dh bZekunkj dk 

The object of Trail Balance is to check the correctness of :- 

A. Journal    B. Ledger 

C. Final Account   D. Honesty of Accountant 

33- fofue; fcy fdlds }kjk fy[kk tkrk gS \ 

v- nsunkj    c- ysunkj 

l- nksuksa ds }kjk   n- buesa ls dksbZ ugha 

A bill of exchange is drawn by whom ? 

A. Debtor    B. Creditor 

C. Both of them   D. None of these 

34- fcy ds Hkqxrku ds fy, fdrus fnu fj;k;rh fnu ds :Ik esa fn;s tkrs gSa \ 

A. 2     B. 3 

C. 4     D- buesa ls dksbZ ugha 

How many days are allowed as days of grace for payment of the 

bill ? 

A. 2     B. 3 



16 
 

C. 4     D. None of these 

35- e”khu] QuhZpj] eksVjxkM+h vkfn mnkgj.k gS %& 

v- LFkk;h lEifÙk;ksa ds   c- pkyw lEifÙk;ksa ds 

l- dk;Z”khy iw¡th ds   n- buesa ls dksbZ ugha 

Machine, Furniture, Motor Vehicle etc are examples of :– 

A. Fixed Assets   B. Current Assets 

C. Working Capital   D. None of these 

36- foÙkh; fooj.k esa lfEefyr gS %& 

v- ryiV    c- ykHk&gkfu [kkrk 

l- vkfFkZd fpV~Bk   n- c- vkSj l- nksuksa 

The financial statement consist of :– 

A. Trail Balance   B. Profit & Loss A/c 

C. Balance Sheet   D. Both (B) and (C) 

37- foÙkh; fooj.k Hkkx gS %& 

v- ys[kkadu    c- jkstukepk 

l- ¼v½ vkSj ¼c½ nksuksa   n- buesa ls dksbZ ugha 

Financial statement is a part of :– 

A. Accounting            B. Journal 
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C. Both (A) and (B)   D. None of these 

38- ykHk&gkfu [kkrk esa tek dh vf/kdrk dks dgrs gSa %& 

v- 'kq) ykHk    c- 'kq) gkfu 

l- ldy ykHk    n- ldy gkfu 

Excess of credit in Profit and Loss Account is called :– 

A. Net Profit    B. Net Loss 

C. Gross Profit   D. Gross Loss 

39- lEifÙk;ksa dk nkf;Roksa ij vkf/kD; dgykrk gS %& 

v- iw¡th     c- ysunkj 

l- ykHk     n- [;kfr 

Excess of assets over liabilities is called :– 

A. Capital    B. Creditors 

C. Profit    D. Goodwill 

40- latho ls udn eky [kjhnk] blds fy, ØsfMV fd;k tk,xk %& 

v- Ø; [kkrk    c- foØ; [kkrk 

l- udn [kkrk    n- latho dk [kkrk 

Purchased goods from Sanjeev for cash, will be credited to :– 

A. Purchase A/C   B. Sales A/C 

C. Cash A/C    D. Sanjeev’s A/C 
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41- ^^'kq) foØ;** 'kCn esa lfEefyr gS %& 

v- udn foØ;     

c- m/kkj foØ; 

l- udn vkSj m/kkj foØ;   

n- udn vkSj m/kkj foØ; ?kVko foØ; okilh 

The term “Net sales” includes :- 

A. Cash Sales    

B. Credit Sales 

C. Cash and Credit Sales  

D. Cash and Credit Sales less Sales Return 

42- og jkf”k tks O;olk; dks vU; i{kksa dks nsuh gksrh gS] dgykrh gS %& 

v- lEifÙk    c- nkf;Ro 

l- iw¡th     n- buesa ls dksbZ ugha 

The amount which the firm has to pay others is known as :– 

A. Assets    B. Liabilities 

C. Capital    D. None of these 

43- iklcqd tkjh fd;k tkrk gS %& 

v- Ldwy }kjk    c- Dyc }kjk 
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l- gkWLihVy }kjk   n- cSad }kjk 

Passbook is issued by :- 

A. School    B. Club 

C. Hospital    D. Bank 

44- :0 5]00]000 ls latho }kjk O;kikj djuk fdlls lacaf/kr gS \ 

v- O;kikfjd ysu&nsu   c- jktuhfrd ysu&nsu 

l- pquko lacaf/kr   n- buesa ls dksbZ ugha 

Sanjeev started business with Rs. 5,00,000. This is related with 

A. Business transactions B. Political transactions 

C. Election related   D. None of these 

45- eky ls vfHkizk; gSa %& 

v- lEifÙk    c- Ø; foØ; 

l- ¼v½ vkSj ¼c½ nksuksa   n- buesa ls dksbZ ugha 

Goods means :- 

A. Assets      B. Purchases and Sales 

C. Both (A) and (B)   D. None of these 

46- NwV dk iz;ksx fd;k tkrk gS %& 

v- le>kSrk ds le;   c- Hkqxrku ds le; 

l- ¼v½ vkSj ¼c½ nksuksa   n- buesa ls dksbZ ugha 

Discount is used at the time of :– 
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A. Agreement   B. Payment 

C. Both A and B   D. None of these 

47- Hkkjr esa ys[kkadu ekud cksMZ dk xBu gqvk Fkk %& 

v- 1971 esa    c- 1990 esa 

l- 1995 esa    n- 1977 esa 

Accounting standard Board in India was established in :– 

A. 1971    B. 1990 

C. 1995    D. 1977 

48- foÙkh; o"kZ izkjEHk gksrk gS %& 

v- 1 vizSy ls    c- 1 tuojh ls 

l- fot;kn”keh ls   n- fnokyh ls 

Finacial year starts from :– 

A. 1st April    B. 1st January 

C. Dussehra    D. Diwali 

49- :0 2000 dk m/kkj eky *B* dks cspk blesa lgh uke i{k dkSu gS \ 

v- c- dk [kkrk    c- foØ; [kkrk 

l- ¼v½ vkSj ¼c½ nksuksa   n- buesa ls dksbZ ugha  

Credit Sale to ‘B’ worth Rs. 2000 which A/c is debited ? 
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A. B’s A/C    B. Sales A/C 

C. Both (A) and (B)  D. None of these 

50- [kkrk ogh esa fdrus [kkus gksrs gSa \ 

v- vkB     c- lkr 

l- ik¡p     n- pkj 

How many columns are there in a ledger ? 

A. Eight    B. Seven 

C. Five     D. Four 

51- 5-34678 dk eku rhu n”keyo LFkku rd fuEu esa ls dkSu lgh gksxk \ 

A. 5.346    B. 5.347 

C. 5.3348    D - buesa ls dksbZ ugha 

Among the following which is the correct option of the value of 

5.34678 upto three decimal places ? 

A. 5.346    B. 5.347 

C. 5.3348    D. None of these 

52- 780-65 dk eku iw.kkZad ds lfUudV gksxk %& 

A. 780    B. 781 
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C. 785    D. 775 

The value of 780.65 nearest the whole number is :- 

A. 780    B. 781 

C. 785    D. 775 

53- 2756543 dk ;FkkZr eku lSdM+s lfUudV gksxk %& 

A. 27565   B. 27564 

C. 27563   n- buesa ls dksbZ ugha 

The value of  2756543 nearest to the hundred is :- 

A. 27565   B. 27564 

C. 27563   D. None of these 

54- 1 ehy esa fdruk xt gksxk \ 

A. 1750    B. 1710 

C. 1706    D. 1760 

How many yards will be in one mile ? 

A. 1750    B. 1710 

C. 1706    D. 1760 

55- ,d Vu esa fdruk fDoUVy gksrk gS \ 
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v- 10 fDoUVy    c- 100 fDoUVy 

l- 1]000 fDoUVy   n- 10]000 fDoUVy 

In one tone haw many quintals are there ? 

A. 10 quintal    B. 100 quintal 

C. 1,000 quintal   D. 10,000 quintal 

56- 103.5678 x 112.35 dk LVS.MMZ QkWeZ gksxk %& 

A. 10356.78 x 1.1235  B. 10367.8 x 1.1235 

C. 103568.00 x 1.1235  n- buesa ls dksbZ ugha 

The standard form of 103.5678 x 112.35 is :– 

A. 10356.78 x 1.1235  B. 10367.8 x 1.1235 

C. 103568.00 x 1.1235  D. None of these 

57- ଵ

଼
  izfr'kr esa fdruk gksxk \ 

A. 12
ଵ

ଶ
%    B. 12

ଷ

ସ
% 

C. 12
ଵ

ହ
%    n- buesa ls dksbZ ugha 

What is 
ଵ

଼
 in percentage ? 

A. 12
ଵ

ଶ
%    B. 12

ଷ

ସ
% 
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C. 12
ଵ

ହ
%    D. None of these 

58- 32 iSlk ,d :i;k dk fdruk izfr”kr gS \ 

A. 30%    B. 31% 

C. 32%    n- buesa ls dksbZ ugha 

32 paise is what percentage of one rupee ? 

A. 30%    B. 31% 

C. 32%    D. None of these 

59- ;fn dksbZ oLrq 864 :0 esa cspus ij 4% gkfu gksrh gS rks ml oLrq dk Ø; 

ewY; D;k gksxk \ 

v- 800 :0    c- 900 :0 

l- 850 :0    n- 950 :0 

If there be 4% loss by selling an article for Rs. 864, What is the 

purchase price of the article ? 

A. Rs. 800    B. Rs. 900 

C. Rs. 850    D. Rs. 950 

60- 30%  vkSj 10%  ds cV~Vs dk ,dy cV~Vk gksxk %& 

A. 35%    B. 36% 



25 
 

C. 37%    D. 40% 

Single discount of consecutive discount 30% and 10% will be :– 

A. 35%    B. 36% 

C. 37%    D. 40% 

61- ,d ,stsUV 10% deh”ku ij 16]000 :0 dk eky fcdokrk gS rks deh”ku dh 

jkf”k gksxh %& 

v- 160 :0    c- 1600 :0 

l- 16 :0    n- 1000 :0 

An agent sold goods of Rs. 16000 at 10% commission. Amount of 

commission will be :– 

A. Rs. 160    B. Rs. 1600 

C. Rs. 16    D. Rs. 1000 

62- feJ/ku ¾ \ 

v- ewy/ku $ C;kt   c- feJ/ku & C;kt 

l- ewy/ku & C;kt   n- feJ/ku $ C;kt 

Compound Amount = ? 

A. Principal + interest  B. Amount – interest 

C. Principal – interest  D. Amount + interest 

63- ;fn x : 6 : : 12 : 24 gS] rks x dk eku gksxk %& 
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A. 1     B. 2 

C. 3     D. 4 

 

If x : 6 : : 12 : 24, the value of x is :– 

A. 1     B. 2 

C. 3     D. 4 

64- 30 :0 izfr ntZu dh nj ls 120 dsys dk ewY; gksxk %& 

v- 360 :0     c- 300 :0 

l- 3]600 :0    n- 1]200 :0 

The price of 120 bananas @ Rs. 30 per dozen will be :- 

A. Rs. 360    B. Rs. 300 

C. Rs. 3,600    D. Rs. 1,200 

65- fdldk 60% ¾ 6 \ 

A. 30     B. 60 

C. 100     D. 10  

60% of what = 6 ? 

A. 30     B. 60 
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C. 100     D. 10 

66- 4% okf"kZd C;kt dh nj ls 500 :0 dk lk/kkj.k C;kt 6 eghus esa gksxk %& 

v- 10 :0    c- 20 :0 

l- 50 :0    n- 25 :0 

The simple interest of Rs. 500 @ 4% p.a. for 6 months will be :– 

A. Rs. 10    B. Rs. 20 

C. Rs. 50    D. Rs. 25 

67- ,d uxj dh vkcknh dk 50% efgyk;sa gSaA ;fn ml uxj esa 75000 iq:"k gSa rks 

dqy vkcknh gksxh %& 

A. 1,45,0000    B. 1,50,000 

C. 1,47,000     D- buesa ls dksbZ ugha 

Females constitute 50% of the population of a town; If there are 

75000 males, the total population is :– 

A. 1,45,0000    B. 1,50,000 

C. 1,47,000    D. None of these 

68- 'kq) dqy fcØh & izR;{k ykxr ¾ ----------- \ 

v- ldy ykHk    c- ldy gkfu 

l- 'kq) ykHk    n- 'kq) gkfu 
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Total Net Sales – Direct Cost = …………. ? 

A. Gross Profit   B. Gross Loss 

C. Net Profit    D. Net Loss 

69- 1]200 :0 ij vafdr ewY; dk ,d lkM+h 1]080 :0 esa csph xbZ] rks cV~Vk dh 

nj fudkysa %& 

v- 10%    c- 11%      l- 15%       n- 20% 

A saree marked at Rs. 1,200 was sold for Rs. 1,080. Find the rate 

of discount :– 

A. 10%    B. 11% 

C. 15%    D. 20% 

70- vesfjdk dh eqnzk dk uke D;k gS \ 

v- ;su     c- fj;ky 

l- MkWyj    n- buesa ls dksbZ ugha 

What is the name of currency of America ? 

A. Yen     B. Riyal 

C. Dollar    D. None of these 

71- 40 dk 30% ¾ \ dk 10% $ 2 

A. 90     B. 100 
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C. 80     D. 120 

30% of 40 = ? of 10% + 2  

A. 90     B. 100 

C. 80     D. 120 

72- 0-218 cjkcj gS %& 

A. 0.218%    B. 21.8% 

C. 2.218%    D. 0.2218%  

0.218 is equal to :– 

A. 0.218%    B. 21.8% 

C. 2.218%    D. 0.2218% 

73- ;fn 10 fdyksxzke vkyw dh dher 80 :0 gS] rks 16-5 fdyksxzke dh dher gksxh 

%& 

v- 1320 :0    c- 132 :0 

l- 128 :0    n- 1280 :0 

If the price of 10 kg of Potato is Rs. 80, then the price of 16.5 kg 

will be :– 

A. Rs. 1,320    B. Rs. 132 
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C. Rs. 128    D. Rs. 1,280 

74- ewy/ku dk D;k lw= gS \ 

A. 𝑃 =
ூ ௫ ଵ଴଴

ோ ௫ ்
    B.P= 

ோ ௫ ଵ଴଴

ூ ௫ ்
 

C. 𝑃 =
் ௫ ଵ଴଴

ோ ௫ ூ
    D. buesa ls dksbZ ugha 

What is the formula of Principal Amount ? 

A.P= 
ூ ௫ ଵ଴଴

ோ ௫ ்
    B.P= 

ோ ௫ ଵ଴଴

ூ ௫ ்
 

C.P= 
் ௫ ଵ଴଴

ோ ௫ ூ
    D. None of these 

75- fdlh O;fDr us ,d lkeku 5]400 :0 esa [kjhnk vkSj 4]500 :0 esa cspkA mldh 

izfr”kr ?kkVk gS %& 

A. 16
ଵ

ଷ
%    B. 16

ଶ

ଷ
% 

C. 16
ଷ

ସ
%    D. 9

ଵ

ଶ
% 

A man bought an article at Rs. 5,400 and sold it at Rs. 4,500. The 

Percentage loss is :- 

A. 16
ଵ

ଷ
%    B. 16

ଶ

ଷ
% 

C. 16
ଷ

ସ
%    D. 9

ଵ

ଶ
% 

76- O;olk; dk mís”; gS %& 
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v- ykHk     c- lsok 

l- ykHk ,oa lsok nksuksa   n- buesa ls dksbZ ugha 

Objective of business is :– 

A. Profit    B. Service 

C. Profit & Service both  D. None of these 

77- og /ka/kk ftlesa yksx etnwjh ds cnys dk;Z djrs gSa %& 

v- jkstxkj    c- O;olk; 

l- is”kk     n- buesa ls dksbZ ugha 

The occupation in which people work for others in return for wages 

is :– 

A. Employment   B. Business 

C. Profession   D. None of these 

78- [ksrh djuk gS %& 

v- vukfFkZd fØ;k   c- jkstxkj 

l- is”kk     n- O;olk; 

Farming is :– 

A. Non-economic activities B. Employment 

C. Profession   D. Business 
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79- O;olk; ds vUrxZr %& 

v- ekuo dh leLr fØ;k,¡ vkrh gSaa 

c- ekuo dh leLr vkfFkZd fØ;k,¡ vkrh gSaA 

l- ekuo dh leLr xSj vkfFkZd fØ;k,¡ vkrh gSaA 

n- buesa ls dksbZ ugha 

Business includes :– 

A. All human activities 

B. All economic activities for human 

C. All non-economic activities for human 

D. None of these 

80- fuEu esa ls dkSu ,d O;kolkf;d fØ;k gS \ 

v- eky dk Ø;&foØ; djuk 

c- eafnj esa iwtk djuk 

l- xzkgdksa ds lkFk /kks[kk djuk 

n- rsy esa feykoV djuk 

Which of the following is a business activity ? 

A. Purchase and Sale of goods. 

B. Worship in the temple 
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C. Fraud with the customers 

D. Adulteration in oil 

81- Hkkjr esa ,dkdh O;kikj dk Hkfo"; gS %& 

v- va/kdkj esa    c- mTToy 

l- dksbZ Hkfo"; ugha gS   n- buesa ls dksbZ ugha 

The future of Sole trading in India is :– 

A. Dark    B. Bright 

C. No future    D. None of these 

82- leLr lk>snkjksa dk nkf;Ro gksrk gS %& 

v- lhfer    c- vlhfer 

l- cjkcj    n- vkuqikfrd 

The Liability of all partners is :– 

A. Limited    B. Unlimited 

C. Equal    D. Proportionate 

83- dEiuh dh iw¡th Hkkxksa esa caVh gksrh gS] ftuesa izR;sd Hkkx dks dgrs gSa \ 

v- ykHkka”k    c- va”k 

l- C;kt     n- ykHk 
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The capital of company is divided into number of parts, each one 

of which is called ? 

A. Dividend    B. Share 

C. Interest    D. Profit 

84- daiuh ds va”k/kkjh gksrs gSa %& 

v- Lokeh    c- _.knkrk 

l- nsunkj    n- buesa ls dksbZ ugha 

Shareholders of a company are :– 

A. Owners    B. Creditors 

C. Debtors    D. None of these 

85- O;olk;h ds fy, lcls mi;qDr [kkrk gS %& 

v- LFkk;h tek [kkrk   c- pkyw [kkrk 

l- cpr [kkrk    n- buesa ls dksbZ ugha 

The most suitable account for a businessman is :– 

A. Fixed Deposit Account B. Current Account 

C. Saving Account   D. None of these 

86- lUns”kokgd ds ijaijkxr ek/;e fuEu esa ls dkSu gS \ 

v- VsyhQksu    c- i=kpkj 



35 
 

l- rkj     n- buesa ls lHkh 

Which of the following is a traditional mode of communication ? 

A. Talephone   B. Correspondent 

C. Telegram    D. All of these 

87- Hkkjr dk dsanzh; cSad dkSu&lk gS \ 

v- lsUVªy cSad vkWQ bf.M;k 

c- fjtoZ cSad vkWQ bf.M;k 

l- LVsV cSad vkWQ bf.M;k 

n- cSad vkWQ bf.M;k 

Which is the Central Bank of India ? 

A. Central Bank of India 

B. Reserve Bank of India 

C. State Bank of India 

D. Bank of India 

88- ,d O;olk; dk izkjaHk djrs le; dkSu&lk rRo /;ku esa j[kuk pkfg, \ 

v- O;olk; dk p;u   c- O;olk; dk LFkku 

l- O;olk; dk iSekuk   n- buesa ls lHkh 
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Which of the following factors are to be considered while starting a 

business ? 

A. Selection of business  B. Place of business 

C. Scle of business  D. All of these 

89- O;kolkf;d laxBu dk dkSu&lk rRo lcls vf/kd LFkkbZ gS \ 

v- lk>snkjh    c- ,dy LokfeRo 

l- la;qDr iw¡th okyh dEiuh  n- buesa ls lHkh 

Which is the most stable form of business organisation ? 

A. Partnership   B. Sole proprietorship 

C. Joint stock company  D. All of these 

90- ,d lk>snkjh lays[k gS %& 

v- fyf[kr dkuwuh nLrkost gS 

c- ekSf[kd le>kSrk gS 

l- dkuwuh rkSj ij ykxw ugha fd;k tk ldrk 

n- buesa ls dksbZ ugha 

A partnership deed is :– 

A. A written legal documents 

B. A verbal understanding 
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C. Not enforceable by law 

D. None of these 

91- va'kksa ds izdkj gSa %& 

 A. 2     B. 4 

C. 3     D. buesa ls dksbZ ugha  

The kind of shares are :– 

A. 2     B. 4 

C. 3     D. None of these 

92- fuEufyf[kr esa ls ^thou chek* dk mís”; dkSu&lk gS \ 

v- lqj{kk    c- fofu;ksx 

l- lqj{kk rFkk fofu;ksx  n- buesa ls dksbZ ugha 

Which of the following is the objective of life insurance ? 

A. Protection    B. Investment 

C. Protection and investment D. None of these 

93- okf.kT; esa 'kkfey fd;k tkrk gS %& 

v- O;olk; ,oa m|ksx    

c- O;olk; ,oa O;kikj 

l- O;kikj ,oa O;kikj dh lgk;d fØ;k,¡ 
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n- buesa ls dksbZ ugha 

Commerce includes :– 

A. Business & Industry    

B. Business and trade 

C. Trade & Aids to trade 

D. None of these 

94- Hkkjrh; fjtoZ cSad LFkkfir gqvk %& 

A. 1955    B. 1932 

C. 1935    D. 1950  

Reserve Bank of India (RBI) was established in :- 

A. 1955    B. 1932 

C. 1935    D. 1950 

95- iw.kZ xksifu;rk jgrh gS %& 

v- futh miØe esa   c- ljdkjh miØe esa 

l- lk>snkjh esa    n- buesa ls lHkh 

Full secrecy is maintained in :– 

A. Private enterprise  B. Government enterprise 
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C. Partnership   D. All of these 

96- fuEufyf[kr esa ls dkSu&lh O;kolkf;d lsok ugha gS \ 

v- cSafdax    c- mRiknu 

l- ;krk;kr    n- lapkj 

Which of the following is not a business service ? 

A. Banking    B. Production 

C. Transport    D. Communication 

97- dPpk vFkok rS;kj eky lqjf{kr j[kk tkrk gS %& 

v- Hk.Mkjx`g esa    c- cSad esa 

l- cUnjxkg esa    n- buesa ls dksbZ ugha 

Raw materials or Finished goods are kept safe at :– 

A. Warehouse   B. Bank 

C. Port     D. None of these 

98- FDI ls vk”k; gS %& 

v- fu”kqYd izR;{k fuos”k  c- fons”kh izR;{k fuos”k 

l- LFkk;h tek fuos”k   n- buesa ls dksbZ ugha 

FDI means :– 

A. Free Direct Investment B. Foreign Direct Investment 
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C. Fixed Deposit Investment D. None of these 

99- iwokZf/kdkj va”kksa ij ykHkka”k nj gksrh gS %& 

v- fuf”pr    c- vfuf”pr 

l- U;wure    n- buesa ls dksbZ ugha 

The rate of dividend on preference share is :– 

A. Certain    B. Uncertain 

C. Minimum    D. None of these 

100- ,d dEiuh dk egRoiw.kZ izys[k gS %& 

v- izfooj.k    c- vUrfuZ;e 

l- ik"kZn lhekfu;e   n- buesa ls dksbZ ugha 

The most important document of a company is :- 

A. Prospectus    

B. Articles 

C. Memorandum of Association 

D. None of these 
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[k.M&c@Section-B 

y?kq mÙkjh; iz”u@Short Answer Type Question 

iz”u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz”uksa ds mÙkj nsaA izR;sd iz”u 

ds fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks.    (15x2=30) 

1- iw¡th dk D;k vFkZ gS\         2 

What is meaning of Capital ? 

2- foKkiu dk D;k vFkZ gS \        2 

What is the meaning of Advertisement ? 

3- chek D;k gS \ ifjHkkf"kr djsaA        2 

What is Insurance? Define. 

4- lk>snkjh O;kikj dh nks fo”ks"krkvksa dks fy[ksaA     2 

Write two features of Partnership business. 

5- O;kikj ,oa m|ksx esa nks vUrj fy[ksaA      2 

Write two differences between Trade and Industries. 

6- i=kpkj ds fdUgha nks rjhdksa dks fy[ksaA ftUgsa Mkd?kj }kjk miyC/k djk;h tkrh 

gS \           2 
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Mention two methods of letter writing which are available in post 

office ? 

7- lerk va”k D;k gS \         2 

What is Equity Share. 

8- la;qDr iw¡th dEiuh dh ifjHkk"kk nsaA       2 

Define Joint Stock Company. 

9- jkstukepk ds nks fu;e fy[ksaA       2 

Write two rules of Journalising. 

10- iqLrikyu ds fdUgha nks mís”;ksa dks fyf[k,A      2 

Write any two objectives of Book-keeping. 

11- nksgjk ys[kk iz.kkyh ds fdUgha nks ykHkksa dk mYys[k djsaA    2 

State any two advantages of Double Entry System. 

12- [kkrkcgh dk ,d izk:Ik nhft,A       2 

Draw a Format of Ledger. 

13- ysunkj fdls dgrs gSa \        2 

Who is a Creditor ? 

14- O;kikj [kkrk ,oa ykHk&gkfu [kkrk esa dksbZ nks vUrj crkb,A   2 

Give any two differences between Trading Account and Profit & 

Loss Account. 

15- jksdM+ cgh fdrus izdkj dh gksrh gS \ muds uke crkb,A   2 

What are the different kinds of Cash Book ? State their names. 
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16- cSad esa udn tek fd;k] jkstukeps dh izfof"V D;k gksxh \   2 

Cash deposited into Bank, What will be Journal entry ? 

17- ysu&nsu D;k gS \         2 

What is a Transaction ? 

18- vkgj.k D;k gS \         2 

What is Drawings ? 

19- pkyw nkf;Ro D;k gS \         2 

What is Current Liability ? 

20- ryiV rS;kj djus dh nks fof/k;k¡ fyf[k, %&     2 

Write two methods of preparing a Trial Balance. 

21- fofue; fcy D;k gS \         2 

What is Bill of Exchange ?       

22- foØ; ¾ 1]00]000 :0] ldy ykHk foØ; ij 25%, ldy ykHk dh x.kuk  

djsaA            2 

Sales = Rs. 1,00,000, Gross profit 25% on sales, Find out Gross 

profit. 

23- csps x;s eky dh ykxr dh x.kuk fdl izdkj dh tkrh gS \   2 

How is Cost of goods sold calculated ? 

24- dj.k vkSj vtqZu esa dqN /ku 3 % 4 esa ckaVk x;kA ;fn vtqZu dks :0 1]800 

feyrs gSa] rks dqy /ku gksxkA        2 

Some amount is distributed between Karan and Arjun in 3 : 4. If 

Arjun gets Rs. 1,800 then the total amount is - 
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25- 14% okf"kZd dh nj ls 400 :0 dk 2 o"kksZa dk pØo`f) C;kt gksxkA  2 

The compound interest on Rs. 400 @ 14% p.a. for 2 years will be. 

26- lat; 200:0 izfrekg ,oa lquhy 250 :0 izfrekg dekrk gSA ;fn os nksuksa 175 

:0 ekg O;; djrs gksa] rks mudh cpr dk vuqikr D;k gS \   2 

Sanjay earns Rs. 200 per months and Sunil earns Rs. 250 per 

month. If each spend, Rs. 175 per month, the ratio of their saving 

is what ? 

27- ;fn x dk 5% ¾ 205 gS] rks x dk eku crk;saA     2 

If 5% of x is 205, then find the value of x.  

28- 20%, 10% rFkk 10% okys Øekuqlkj cV~Vs dk led{k ,d lk/kkj.k cV~Vk 

D;k gksxk \          2 

What a simple discount is equivalent to a series of discount, 20%, 

10% and 10% ? 

29- ,d O;kikjh 12]000 :0 lwph ewY; ij 20% O;kikfjd cV~Vk ,oa 5% udnh 

cV~Vk nsrk gSA oLrq dk foØ; ewY; D;k gS \     2 

A trader allows 20% trade discount and 5% cash discount on the 

List Price of Rs. 12,000. What is the selling price of an article ? 

30- eksgu us ,d ?kM+h 250 :0 esa [kjhndj 300 :0 esa csp nhA mls fdruk izfr”kr 

ykHk gksxk \         2 

Mohan purchased a watch at Rs. 250 and sold at Rs. 300. What is 

his gain percent ? 
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nh?kZ mÙkjh; iz”u@Long Answer Type Question 

iz”u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz”u gSaA fdUgha 4 iz”uksa ds mÙkj nsaA izR;sd iz”u ds 

fy, 5 vad fu/kkZfjr gSaA        (4x5=20) 

Question no. 31 to 38 are long answer type questions. Answer any 4 

questions. Each question carries 5 marks.    (4x5=20) 

31- ,d ,ts.V ,d dkj cspdj :0 4]50]000 izkIr djrk gS] fdUrq dkj ds ekfyd 

dks flQZ :0 4]20]000 Hkstrk gS vkSj 'ks"k vius deh”ku ds :Ik esa j[k ysrk gS 

rks mls fdl nj ls deh”ku feyk \ 

An agent by selling a car gets Rs. 4,50,000 but he remits to his 

principal Rs. 4,20,000 only and keeps the balance with him as his 

commission.  What is the rate of commission ? 

32- 45 yhVj feJ.k esa nw/k ,oa ikuh dk vuqikr 4 % 1 gSA ;fn bl feJ.k esa 9 

yhVj ikuh feyk;k tk, rks izkIr feJ.k esa nw/k ,oa ikuh dk vuqikr D;k gksxk\ 

In a mixture of 45 litre, the ratio of milk and water is 4 : 1. If 9 litre 

of water is added to this mixture, then in the resulting mixture, 

what will be the ratio of milk and water ? 

33- O;kikj] m|ksx ,oa okf.kT; esa dksbZ rhu vUrj crkosaA 

State any three differences among Trade, Industry and 

Commerce. 

34- chek ls D;k rkRi;Z gS \ chek ds ykHkksa dk la{ksi esa o.kZu dhft,A 

What is meant by Insurance ? Describe in brief the advantage of 

insurance. 

35- fuEufyf[kr lwpukvksa ls ldy ykHk Kkr djsa %& 
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Ø; ¾ 3]00]000 :0] foØ; ¾ 5]00]000 :0] foØ; okilh ¾ 10]000 :0]  

etnwjh ¾ 35]000 :0] vkfUrjd HkkM+k ¾ 5]000 :0] izkjafHkd jgfr;k ¾ 25]000 

:0] vfUre jgfr;k ¾35]000 :0 

From the following information, calculate gross profit :– 

Purchases = Rs. 3,00,000, Sales = Rs. 5,00,000, Sales Return = 

Rs. 10,000, Wages = Rs. 35,000, Carriage Inward = Rs. 5,000, 

Opening Stock = Rs. 25,000, Closing Stock = Rs. 35,000. 

36- fuEufyf[kr fooj.kksa ls lw;Zizdk”k dh ,d [kkus okyh jksdM+ iqLrd esa ys[kk 

dhft,A 

2021  :0 

Qjojh & 1 jksdM+ gkFk esa 572 

Qjojh & 2 f'kopj.k ls izkIr fd;k 3]000 

Qjohj & 15 udn [kjhnk 1]000 

Qjojh & 25 udn foØ; 1]300 

Qjojh & 28 etnwjh nh 1]000 

 

From the following Particulars, Prepare a single column cash Book 

of Surya Prakash. 

2021  Rs. 

Feb. – 1 Cash in hand 572 

Feb. – 2 Received from Shiv Charan 3,000 

Feb. –  15 Cash purchases 1,000 

Feb. –  25 Cash sales 1,300 

Feb. –  28 Paid wages 1,000 

 

37- [kkrsa fdrus izdkj ds gksrs gSa \ MsfcV rFkk ØsfMV djus ds fu;e crk;sa A 

What are the types of accounts ? Enumerate the rules of debit and 

credit. 
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38- jkstukepk ds egRoksa dk o.kZu djsaA 

Explain the importance of Journal. 


